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Residuals plot (run 48):
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As we have seen before, there is an
the residuals plot.
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asymmetry between X and Y in



As one can observe, the disribution

Track angles (run 48):

Angle of track - projection on XZ plane

Angle of track - projection on YZ plane

is wider in X than in Y...



cosine of YZ angle

Track angles - comparison (run 48):
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Conclusions

Difference between planes observed in residuals plots
Track angle analysis reveals an asymmetry in track direction
Improvement in alignment is required

Further study of tracking algorithm is required



